Infinite Spherical Box:
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Harmonic Oscillator

30 T

25

L |
E

EI:I L

4
=

=
]

15F o

E/hbar fomega

*

Ln
G

||

i

E 4

[

L |

[

4

[

L

[

e d

>

L=0

10

100000 .
80000
60000
40000
20000

= 0
-20000
-40000
-60000

-80000

-100000 '



L=1

100000
80000
a0000
40000
20000

0

-20000

-40000

-60000

-80000

L=2

100000
30000
a0000
40000

20000

I:I |

-20000

-40000

-60000

-80000




L=3

100000
20000
a0000
40000
20000

0

-20000
-40000
-60000

-80000

L=4

100000
80000
a0000
40000
20000

0

-20000

-40000

-60000

-80000




nr = 2, different L
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Coulomb potential
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